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Thelsum|of three consecutive even integers is 528. What is the largest of
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How much of a 60%-acid solution must be mixed with 30 gallons of a 13%-
acid solution to obtain a solution that is 50% acid?
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The width of a rectangle is 15cm. Find all possible values for the length of
the rectangle if the perimeter is at least 392 cm.
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The@ of a square is to be between 17 and 56 feet, ||ncluswely]

Find all possible values for the length of its sides.
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Vartin purchased municipal bonds yielding 6% annually and certificates of
deposit yielding 9% annually. If Martin’s investments amounted to $18,486
and the annual income is $1280.58, how much money is invested in bonds
and how much money is invested in certificates of deposit?
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